
��
��
��
��

Adagio cantabile1

2

GEEE
dolce

5M 555 5 5 5 5 5 5
sf

5M 555 5
sf

5 5 4 55555555 5M 55
sf

5M 5 5M 55 555 5E

GEEE
p
5 5 5 5M 5 5 5 5

sf
B 5

4 4 = 5 5 5 5 5 = 5 5 5 5 5

�EEE
p
5 5 5 5M 5 5 5! 5

sf
B 5 4 4 = 5 5 5 5 5 = 5 5 5 5 5

�EEE
p
BM BM BM 5 4 4 = 5 5 5 5 5 = 5 5 5 5 5

71

2

GEEE 5M 5! 5� 5 5E 5M 5E� 5M 55 5! 5! 5 5 5 5 5
sf

5M 555 5
sf

5 5 4 1055555555
55

GEEE = 5� 5� 5 5� 5 59 5 4 5M 55 5 5 5M 5 5 5 5
sf
B 5

4 4

�EEE = 5� 5� 5 5� B 4 5 5 5 5M 5 5 5! 5
sf
B 5 4 4

�EEE = 5 5 5 5 5E 5 5 4 BM BM BM 5 4 4
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Supplementary Example 8.9
Haydn, String Quartet in D, Op. 64, No. 5
second movement, 1–34

1

Analyzing Classical Form



131

2

GEEE 5M 5 5 5 5 5 5E 5M 5 5M 5� 5� 5 5 5E� 5E 5� = 4
sf

5M 5 5M 5�
sf

5M 5 5M 5�

GEEE = 5E 5 5 5 5 = 5 5 5 5 5 5 5 5 5 5� = 4 = 5 5 5 5 5 = 5 5 5 5 5
�EEE = 5 5 5 5 5 = 5 5 5 5 5 5M 5E 5 5 5 5� = 4 = 5 5 5 5 5 = 5 5 5 5 5
�EEE = 5 5 5 5 5 = 5 5 5 5 5 5 5 5 5 5 4 = 5! 5 5 5 5 = 5 5 5 5 5

191

2

GEEE 5M 5! 5! 5 5 5! M 5� 5 5E M 5� 5E 5M 5!� 5E M 555 5 5 5 5 5 5
sf

5M 555 5

GEEE = 5 5 5 5! 5 B! 4 = 5 5 5! 5 5 5 5 4 5M 555 5 5M 5 5 5 5
sf
B

�EEE = 5! 5 5! 5 5 5! 5! 4 = 5! 5 5 5 5 5! 5 4 5 5 5 5M 5 5 5! 5
sf
B

�EEE = 5� 5 5 5 5 B 4 = 5! 5 5 5 5 B 4 BM BM BM

Supplementary Example 8.9, Haydn, String Quartet in D, Op. 64, No. 5, second movement, 1–34 (continued)
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261

2

GEEE
sf

5 5 4
sf

55555555 5M 5 5M 5� 5

sf
5
� 4�

pp

5 5E 5 5 5 4
f

5 5! 5E

GEEE
5

4 4 = 5 5 5 5 5 = 5�
sf
5
� 4� 4

pp

5 5 5 5 4
f
BM

�EEE 5 4 4 = 5 5 5 5 5 = 5�
sf

5� 4� 4
pp

5 5 5 5 4
f

5 5 5!

�EEE 5 4 4 = 5 5 5 5 5 = 5�
sf

5� 4� 4 G
pp
5 5 5E 5 4 �

f

5 5 5! 5 5 5

321

2

GEEE 5 5 5 5 5! 5 5 5 5
p

5 5 5 5 5 5� = 4

GEEE
BM BM

p
5 5� = 4

�EEE BE M BM
p
5 5� = 4

�EEE BM BM p
B 4

Supplementary Example 8.9, Haydn, String Quartet in D, Op. 64, No. 5, second movement, 1–34 (continued)
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Minore

G�
p

5 5 5 5E 5M 4
85 : 5 5 5 4

85 :
f

5 5 5 5 5E 5 55 5 5E 5 B55 55E

p

5 5 5 5E

�� ? G = 555 555 555 = �555 555 555 =
555 555 555 = �

555E 555 555 55 55!! 55!! 55�� BB ?

124 ::
::
::
::

G� 5M 4 85 :
cresc.

5E 5 5E 4 8
f

5 : 59 5 5
p

B 5! : 5E 54
p

5 5E 5 5! 5 5� 5 5!
f

5� 5E 5 5 55 !! 55 �55 55
�� =

555 555 555= �555 555 555 = 555! 555 555= 555 555 555 5554 BBB! 554 0 G 55E 55! 55 55! � 5� 5 55 5555

130 ::
::

G�
p

E5� = 455 5! 55� = 4 E5555 5M� =4 ? ?
f

5 5� 5 5E 5M 4 85 : 55 5E 4 85 : 5E 5 5E B
p

5 : 5E 5 45
M�

�� 5M� = 4 5M� = 4 5M� =4 555 5E 5M 4 ? = 555 555 555= 555 555 555 = 555! 555 555= 55! 55 55 55!� BBB 55 : 5 55 4
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Supplementary Example 8.10
Mozart, Piano Sonata in D, K. 284
third movement, 120–36

1

Analyzing Classical Form



�
�

�

Adagio cantabile

G���� 0 0 0 0 0 0

G����
p

5MB 5M 5B 5 : 55 55 5 5 5 55 : 5� = cresc.
55M 55M

sf

55 :: 55� 55! 555555
p

55 :: 55 55� 55� = 55M 55M B5 : 5B 5 5! 55

����� BB BB 5 55 55 :: = 55 :: 55 55 BB :: 55 :: 55 5 5� =
55 55 BB! 55 :: 5555

6G���� 0 0 ?
p

5M 5M 5 5 : 5 5 5 5 5 5 5� =
cresc.

5M 5M

G���� 5 5� =
cresc.

5 5 5 5 5 5 :�!
p

5 5 55 !k5� 55
�
cresc.

5 : 5
55 555�

p

555M 55M 55 : 5 : 55� 5 55 5 5 5 55 5� =
cresc.

55M 55M

����� 55 :: =
555 555 555 ::: 55 55 5

55 BB BB 55
:: 5 5 5 55 BB 55 :: 55 55
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Supplementary Example 8.11
Beethoven, Violin Sonata in C minor, Op. 30, No. 2
second movement, 1–32

1

Analyzing Classical Form



11G����
sf

5 : 5� 5 5 5 5 5 :5 5 5� = 5M 5M 5 : 5B 5 5! 5 5 5 5� =
cresc.

5 5555 5 :
p

5 5 5 k5�5 : 5�
�����

sf

55 :: 55� 55! 55 55 55 55 ::55 55� 55� =
p

555M 555M BBB !B5 : 555! 555� =
cresc.

55 555!� 555 :::G 55! 55 =
p
5 5� = 5 5!

5 5
����� BB :: 55 ::55 5 5� = ? BB! 5 :B B5 5! B 55 55 55 :: 55 55 5

5 55

16G���� 5� 4 ? 5 : 5 55� = 4 5 :
cresc.

55B
decresc.

5 5 5 5 5 535 53

G���� =
5 55M 5M 5M

5M 5 5 : 5! 5 5M 3 5� 5 5555 5
cresc.

5M 355 5! 5
decresc.

5 5! 5 5� 5 5� 35 53

����� B
5 5 5 5 5 5 5 5 5 5 5 5! 5 5 5 5 5 5 5! 5 5 5 5 5 5 5 5 5

20G����
p
5 5� = ? 0

cresc.

5
sf
55

p
55M

cresc.

5M 5 5 5M! decresc.5M 5M 5M 5 5 5M 5 5 5M
3 3

G����
p

5
cresc.

5 555! 555 555� 555 :: 5� : 5 55 55!! 55 55 555
sf
55� p

5M
cresc.

5M 5 5 5M 85M 5M 5M 5 5 55 : 555!� 3 3

�����
5 5 5 5 55 55!!

55 :: 55!!�
55 55� 55

555�
55 55

55 55 55 55
decresc.

5
55 55 55 5 5 5

M
55 5 5

M
3

3 3

Supplementary Example 8.11, Beethoven, Violin Sonata in C minor, Op. 30, No. 2, second movement, 1–32 (continued)
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24G���� 5� = 4
p

5 5 : 5! 5 5M 3 5� 5 5555 5
cresc.

5M 355 5! 5
decresc.

5 5! 5 5� 5 5� 35 53

G���� 5M 555 �

p

55 5 5
5 5 5 5 5 5 5 5 5 5 5 5!

cresc.

5 5 5 5 G
5 5 5! 5

decresc.
5 5 5 5 5� 535 53

����� 5 555
5
M$

5 5 5 5 5 5 5 5 5 5 5 5! 5 5 5 5 5 5 5! 5 5 5 5 5 5 5 5 555 5 5

28G����
p

5
cresc.

5 5! 5M 5M 5 5� : 5 5 5 5 5 5
sf
5

p

5M
cresc.

5M 5 5 5M 8
decresc.

5M 5M 5M 5 5 55 : 5 5
3 3

G���� 5 �
cresc.

5 55 55� 55 55 :: 55!� 5 5! 5 5 55
sf

555�
p

555 G
cresc.
55 55 55 55M! 55M 55M 55M

=
decresc.
55� 5 = 55 5 55

3 3 3 3

����� 5 5 5 5 55 55!! 55
:: 55!!

�
55 55 55 55 55 55 5

5 55� 55 55 55 55M 55M 5 5 55

Supplementary Example 8.11, Beethoven, Violin Sonata in C minor, Op. 30, No. 2, second movement, 1–32 (continued)
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��
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��
��

Allegro ::
::
::
::
::

1

2

G���
p
5� 5 5 5 5 5! 5 5 5M 5 5 5 5 5! 5 5 5 5M 5M 5 5 5 5 5� 5 5 5M 5 5! 5 5E 5 =

G��� =
p
5 5 5 5 5 = 5! � 5 5 5 5 5 4 5 5 5 5 5 5� 5M 5 5 5 5! 5 =

���� =
p

B 5 4 B 5 4 B 5 5 5M B 5 =
���� =

p

5M 5M 5 4 0 0 5M 5M 5 4 0 0
���� = 0 0

p
5M 5M 5 4 0 4 = 5� � 5M 5M 5 =

::
::
::
::
::

9 ::
::
::
::
::

1

2

G��� 5� 5 5! 5 5! 5 5 5 5M 5 5 5! = 5� 5 5� 5 5 5! 5 5 5M 5M 5M 5M 5M! 5 =

G��� = = 5� 5 5 5� 4 4 5 5! 4 5 5 5 5 5 5 5!
5M 5M 5M 5M 5M 5 =

���� = = 5 5� 5 5 4 = 5 5 5E 5 5E 5 5 5� = B 5 : 5� 5� 5 5� 5 =
���� = = 5 5 5M 5 4 0 0 4 = 5� 5 5 5 5M 5M 5M 5M 5M 5 =
���� = B 5 4 0 0 B 5 = 5! � 5M 5M 5M 5M 5 =
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Supplementary Example 8.12
Mozart, String Quintet in C minor, K. 406
fourth movement, 1–16

1

Analyzing Classical Form



��
��

Tempo di Menuet

G� 5�
85 : 5! 5 85M 5M 5M 5M 5M 5M 5 5� 3 85� 5 : 5! 5  5M 5M 5M 5M 5M 5M 5 5K� 3 85� 5 : 5! 5

5 : 5 5� 5 5 5 5 5 5

G� 34 55 4 4 55 5� = 4 55�
5 4 4 55 5� = 4 = �5 5E 5 5 5!

B 55�

7 ::
::
::
::

G� 6�B 5 85 5� 3 0 4 = 5� 5 5 5 5� 5 5 5 5 5$5 5E 5 5 5 55 5! 5� 3
8

5$ 5 : 5! 5
�� 5 55 5 5 5 5 5! 5 : 5� 3 5$

8
5 : 5! 5 5 5� 5 5 5E 5 5 5! 5 5 5 5 5 : 5� 5 5 5 5�

= 4

13 1. ::
::
2.

G� 5 5 5�5 5 5555555�
5 55 5 5 555� 6�5 5 5 5 5 5 B 5 = 5E 5 5 =55 5 5

5�5
� 55

= 3 55
4

�� 5 4 4 5
G= 5555 5 5 B 5 �5 5 5 5 5

5 5 4 5 5 5� 3 5 5� =
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Supplementary Example 8.13
Haydn, Piano Sonata in F, H. 29
third movement, 1–18

1

Analyzing Classical Form



{
Andante

C

C

&
p?
œr œœœ.

j ‰
œœœ.
j ‰ œœ.

j ‰
œœ.
j ‰

œœœ.
j ‰

œœœ.
j ‰ ˙̇ œœ.

j ‰ œœœ.
j ‰ œœœ.

j ‰ œœœ.#
j ‰ œœœ.

j ‰ œœœ.
j ‰ œœ œœ ™™ œ œœœ.

j ‰
œœœ.
j ‰ œœ.

j ‰
œœ.
j ‰

≈ œ.j ‰ œ.J ‰ œ.J ‰ œ.
j ‰ œ.j ‰ œ.j ‰ œ

œ ™ œ œ.J ‰ œ.J ‰ œ.
j ‰ œ.

j ‰ œ.j ‰ œ.j ‰ ˙ œ.j ‰ œ.J ‰ œ.J ‰ œ.
j ‰

{
6 ™™

™™

&
cresc. sf cresc. sf p p

Ÿ
cresc.

? & ?
œœœ.
j ‰ œœ.#

j ‰ ˙̇ œœ.
j ‰ œœ.b

j ‰ ˙̇n œœ.#
j ‰ œœ.

j ‰ œ.
j ‰ ‰™ œr œœ œœn œœ œœœœ œœ œœb œœ œœ ™™ œ œœ œœ œœ œœœ#

œ.j ‰ œœ.
j ‰ ˙̇ œœ.J ‰

œœ.#J ‰
˙̇ œœ.J ‰

œœ
.
J ‰

œœ.J ‰ ‰™ ≈ œœ œœ œœ œœb œœ œœ ˙̇
œœ œœ# œœ œ

{
12&

p f sf

b
p

?

? & ? #
œœœ œœœnb œœœ œ œœ.

j ‰ œœœ.
j ‰ œœœ.

j ‰ œœœ.
j ‰ œœœœ.

j ‰ œœœœ
.
J ‰ œœœœ.

j ‰ œœ œœ œœ œ̇ œ œœœ.J ‰ œœœ.n
j ‰ œœœ.

j ‰ Œ

œ œ# œ œ ™ œn œ.j ‰ œ.j ‰ œ.j
‰ œœœœ

.
J ‰ œœœœ

.
J ‰ œœœœ.

j ‰ œœœœ.
j ‰ ‰ œJ

œj œœ œœ œ̇ œ œ.J ‰ œ.j ‰ œ.j ‰ Œ
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Supplementary Example 8.14
Beethoven, Piano Sonata in G, Op. 14, No. 2
second movement, 1–20

1

Analyzing Classical Form



{
17

™™

™™

?
sf sf sf

&
sf?

œœœ.J ‰ œœœ.J ‰ œœœ.#J ‰ œœœ.J ‰ œœœ.## J ‰
œœœ.J ‰

˙̇̇n œœœn œœœ œœœ œœœ œœœ.
j ‰

œœœ.
j ‰

œœœ.
j ‰ ‰™

œ.j ‰ œ.
j ‰ œ.j ‰ œ.j

‰ œ.
j ‰ œ.j

‰ ˙̇nn œ œ œ œ œ.j ‰ œ.
j ‰ œ.

j ‰ ‰™

Supplementary Example 8.14, Beethoven, Piano Sonata in G, Op. 14, No. 2, second movement, 1–20 (continued)
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	��

	��

Adagio molto semplice e cantabile
1. ::

::
G

p

5 5 5 :5 :� 5 5 5 :5 : 5 : 5 : 5 :�5 : 5 : 5 : 5 : 5 : 5 :5 : 5 : 5 : 5 : 5 :5 : 5 : 5 : 5 :5 : 5 : 5 :5 :� 5 :5 : 5 : 5 55 55 5 : 5 : 5 5 5 :55 :: 55 :: 55 5 5 5 55 55
�

55 ::� 55 :: 55 :: 55 :: 55 :: 55 :: 55 :: 55 :: 55 :: 55 :: 5 :5 :� 5 :
� 5 5

55
:: 55

::
�
55 ::5 5 5 :55 55EE

5 : 5 : 5 5 5 5 5 5

8 2. ::
::

::
::

G 5 : 5 :� 5 :5 55 55 55 5 : 5 5 5 :5 :� 5 : 5 5 55 :: 55 :: 55 55
cresc.

55 :: 55E :: 555 ::: 555! ::: 555 :::� 555 ::: 555 :::� 555 :::� 555 :::�
sf

555 555
p

555 555 555 :::�
� 5 5 5 5 5 :� 5 : E5 : 5 : 5 :5 :� 5 :5 : 5 : 5 : 55E :: 55 :: 55 ::5 :� 5 :5 : 5 : 55 :: 55 :: 55

::
�
55 :: 55 ::

�
55
::
�
55
::
�
55 55 55 5

5 55 ::
�
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Supplementary Example 8.15
Beethoven, Piano Sonata in C minor, Op. 111
second movement, 1–16

1

Analyzing Classical Form



��
��

Presto ::
::

GE
5� 5 5 5 5 5 5 5 5� 55 5 5 5 5 5�5

� 5 5 5E 5 5 5 5E 5! 5� 5
�5E� 5 =5�

�E = 55 = 55� 55 4 4 = 5� 5 5� = G 5 = 5M
� 5 = 5� 5 5 � 5 5�

::
::

9GE
5� 5 5 5E 5 5 5E 5! 5 5 5 5 5 5 5 5 5E 5 5! 5 5E 5 5! 5 5 5 5 5 5 5

�E = 0 = 05E 5 5 = 5 5 5 5 = 5E� 5
G= 5E � 5 5 5 55E� 5 5� = �5�

17 ::
::

GE 5 5 5 5 5 5 5 5� 55 5 5 5 5 5� 5 5 5 55 5 5E 5 5 5 5� 55E 5 5 5 5 =
�E 55 = 55� 55 4 4 = 5� 5 5 4 = 5� 5 = 5�

5 = 5�
5 5�

Copyright © 2013 Oxford University Press

Supplementary Example 8.16
Haydn, Piano Sonata in G, H. 27
third movement, 1–24

1

Analyzing Classical Form


